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NEW QUESTION 1
A Solution Architect is delivering a multi-cloud implementation to a client. A diagram is required to communicate the vision and strategy of the solution to the
business executives and stakeholders at a high level without going into too much detailed technical information.
Which type of architecture diagram should the Solution Architect use?

A. Master Data Management (MDM) Diagram
B. Reference Architecture Diagram
C. Lightning Platform Architecture Diagram
D. Solution Architecture Diagram

Answer: B

NEW QUESTION 2
Universal Containers (UC) has acquired four companies and is looking to manage revenue across all mergers' territories seamlessly. UC wants to drive major
business decision and selling strategies based on an efficient, complete, real-time view of team forecasts across territories from Salesforce. A sales user can be
part of multiple territories and is usually working on multiple opportunities at a time.
Which technical consideration should a Solution Architect make when designing collaborative forecasting?

A. Archiving a territory model does not impact forecasts, quotas, and adjustments for all territories in the model.
B. If the sales user has many territories assigned to them, it can impact the performance of the forecast.
C. Important details should be tracked at the opportunity line level.
D. Forecast category names can be customized by submitting a Salesforce Support case.

Answer: B

NEW QUESTION 3
Universal Containers (UC) is using Sales Cloud and Service Cloud. UC wants a solution that can tend scheduled emails on a dairy, weekly, or monthly basis to
existing customers and prospects. UC also wants to track if customers have opened the emails. There can be as little as 1,000 emails in a week or as many as
100,000 emails in a month, depending on the season.
Based on that criteria, which solution should the Solution Architect recommend to UC?

A. Set up scheduled flows to handle email sending and tracking.
B. Recommend Marketing Cloud Account Engagement.
C. Develop a custom solution using scheduled Apex to send emails.
D. Recommend Marketing Cloud Personalization.

Answer: D

NEW QUESTION 4
Universal Containers (UC) is about to implement Sales Cloud, Service Cloud, and Revenue Cloud within its newly created Salesforce environment. But before UC
begins, the CIO would like to understand the options for creating and migrating changes within Salesforce. UC is about to use a sandbox for the initial build and will
deploy customisation up to the production environment. UC has decided to build packages of metadata to silo the functionality between the three clouds it is
implementing for.
What are two key considerations a Solution Architect should keep in mind when recommending packaging? Choose 2 answers

A. Design the package as modular, loosely coupled units of metadata rather than large chunks of an org.
B. Only utilize one functional automation tool (Flow, Workflow Rules, Process Builder) per object.
C. It is impossible to track source control with package development; either the org owns the source or a source control does, but never both.
D. Clouds like Revenue Cloud have their own packages so it is easy to work with them because their automation is limited.

Answer: AD

NEW QUESTION 5
Universal Containers (UC) wants to add and integrate Marketing Cloud Account Engagement after a recent acquisition. The integration into the global architecture
will be as follows:
• Marketing Cloud Account Engagement will be used for lead nurturing with Engagement Studio.
• Marketing Cloud Account Engagement forms will be set up in a website.
• Sales Cloud will manage leads created by Marketing Cloud Account Engagement.
UC wants to facilitate adoption by giving sales representatives and marketers enough time to learn about new features on a training platform.
Which approach should a Solution Architect recommend in order to set up an environment in which users can test the functionalities from end to end?

A. Create a new Marketing Cloud Account Engagement business unit, recreate the configuration, and link it to a full copy Sales Cloud sandbox.
B. Create a new Marketing Cloud Account Engagement business unit, recreate the configuration, and link it to the production Sales Cloud org.
C. Create a new Marketing Cloud Account Engagement business unit, synchronize the production unit and the training unit, and link it to a full copy Sales Cloud
sandbox.
D. Create Marketing Cloud Account Engagement training environments, synchronize the environments, and link it to a full copy Sales Cloud sandbox.

Answer: C

NEW QUESTION 6
Universal Containers (UC) u selling containers globally via distributors and is experiencing significant double-digit growth year-over-year. UC uses a centralized
ERP system that holds the financial information of the distributors. The ERP system is siloed but offers connectivity via APIs. The account managers need to
reference the financial information stored in the ERP while approving an order of a distributor inside Salesforce. The financial information of a distributor may
change ad-hoc during the day in the ERP system and account managers need the latest data in front of them.
What should a Solution Architect recommend while designing an integrated, scalable solution to meet UC's needs?
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A. Use Change Data Capture to update the changes on the financial information inside Salesforce m near-real time.
B. Use the scheduled data loader to extract the financial information every night from the ERP and save it inside Salesforce.
C. Retrieve the financial information on-demand from the ERP via API and display the information as read-only using a lightning component.
D. Schedule a MuleSoft batch job to retrieve financial information from the ERP every night and store itinside Salesforce for quick access.

Answer: C

NEW QUESTION 7
A Solution Architect is working with a complex enterprise architecture that supports multiple business processes. Many previous transformation projects have
struggled because of the interdependencies between the Salesforce production environment and other systems, as well as a lack of documentation.
In which two ways can a Solution Architect gain a better understanding of the current state of the Salesforce production environment?
Choose 2 answers

A. Speak to the business stakeholders to gather their suggestions for improvement.
B. Identify which system integrator did the previous implementation and ask them to document their work.
C. Examine the details of the current configuration to see how it is set up.
D. Work with the system administrator to identify who has the most knowledge of the current configuration.

Answer: BC

NEW QUESTION 8
Universal Containers (UC) is concerned about potential data storage issues in Salesforce due to the Invoice, Order, and Inventory data that would be flowing in
from various on-premise legacy CRM and ERP applications. UC would like to view and occasionally report on this data on-demand for day-to-day operational
processes and would prefer not to store the data in Salesforce due to data residency requirements.
Which recommendation should the Solution Architect make to meet this requirement?

A. Use Salesforce Orchestrator with MuleSoft to retrieve the data when it is needed.
B. Push the data into Salesforce and implement an archival strategy.
C. Write custom Apex code to retrieve the data in real time from external systems.
D. Re-architect the implementation using Salesforce Connect and external objects.

Answer: D

NEW QUESTION 9
Universal Containers recently began a project to connect its ERP with Salesforce. One of the requirements is a daily batch process to create and update orders
and order product information. The development team, using the corporate ETL tool, has created two processes to create these records using Bulk API. The test in
the development environment worked fine, but in the production environment, some order product records were not updated and showed an error
"UNABLE_TO_LOCK_ROW:unable to obtain exclusive access to this record". There is one Process Builder on the Order Product object and no async process.
Which two steps should a Solution Architect recommend to avoid this error? Choose 2 answers

A. Use the import wizard instead of Bulk API.
B. Sort the order product records by account and order before the Bulk API load.
C. Change the Bulk API call to use Bulk API 2.0.
D. Add a retry process for the records rejected by this error.

Answer: BC

NEW QUESTION 10
Northern Trail Outfitters (NTO) is running a multi-cloud Salesforce implementation with lots of process integration between the clouds and other systems. During
the project, NTO faces many challenges including a lack of agility and business value alignment, as well as silo-thinking. After trying different approaches, NTO
begins to use Agile and is successful. The project manager now wonders what the recommended operating model would look like.
What should be a Solution Architect's first recommendation?

A. NTO should set up an Operations team within IT to ensure proper management of the integrations going forward.
B. NTO should set up a model of continuous backlog with teams aligned to the different clouds to drive efficiency and team collaboration.
C. NTO should set up a model of continuous backlog with teams aligned to the different products (capabilities) to improve efficiency.
D. NTO should establish a Scaled Agile Center of Excellence to continuously improve agility and time to market.

Answer: D

NEW QUESTION 10
Universal Containers (UC) is a global organisation that wants to establish a 628 Commerce site to meet changing customer expectations and expand into new
markets. These expectations include being able to
self-serve 24x7 and get automated updates on orders. There are existing sales channels used at UC. Including a standard Sales team as well as a partner sales
channel.
The sales leader met with a Solution Architect and shared that they want to grow their digital capabilities over the next 2 years. Time is of the essence and the
sales leader needs to have the ecommerce solution in place as soon as possible to capture market share in new geographies before other competitors move in.
The executive team has promised prompt access to key stakeholders as needed.
What is the appropriate next step 'or the Solution Architect?

A. Propose the introduction of B2B Commerce and CPQ to address the key areas of need such as global commerce, complex pricing, quoting and discounting
needs; highlight the key features 6r>a the alignment of the features to the needs outlined.
B. Propose a set of high-level design options with architecture diagrams depicting the potential elements of a solution that would meet the needs of the enterprise,
including pros and cons to help the stakeholders make final decisions.
C. Recommend in iterative rollout strategy for one of the new geographies where B2B Commerce is first rolled out to secure first mover status, while theSolution
Architect gathers more requirements around other capabilities and requirements, and then roll those out over subsequent phases.
D. Recommend discovery meetings with additional stakeholders to gather information on the functional and technical requirement across the sales and other
functional areas, then provide a recommendation based on information gathered to deliver an MVP.
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Answer: C

NEW QUESTION 15
A Solution Architect is working with Northern Trail Outfitters' Sales and Services team. They are currently evaluating how many environments they need to procure.
As part of a preliminary review, it was identified that although the different business units were happy working m separate environments, there is a requirement to
know each other's transactions.
Which two requirements would make the Solution Architect recommend a Single org over a multi-org strategy?
Choose 2 answers

A. Collaboration between lines of business
B. Simple security architecture across lines of business
C. Global case management across lines of business
D. Access to shared lines of business data

Answer: AD

NEW QUESTION 19
Universal Containers (UC) wants to enhance the online purchase experience for its customers. The product and pricing information is managed in a separate ERP,
while customer purchases are primarily triggered online through self-service. UC often offers promotions and discounts through various online seasonal events.
UC wants the ability to provide customized quotes based on its relationship with the customer, as well as proactively process and monitor renewal and upgrade
opportunities.
A Solution Architect has identified Sales Cloud, CPQ, Billing, and B2B Commerce as part of a potential multi-cloud solution.
Based on the above considerations, which option identifies the optimal data flow for this solution?

A. Pricing and Product data should be pushed from ERP to B2B Commerce via the CPQ B2B Commerce Connector to CP
B. Promotions should be handled in B2B Commerc
C. Invoice and Billing should be maintained in Billing and surfaced on B2B Commerce via a Lightning component.
D. Pricing and Product data should be pushed from ERP to CPQ and from there to B2B Commerce via the CPQ B2B Commerce Connecto
E. Promotions should be managed in CPQ as CPQ is the pricing maste
F. Invoice and Billing should be managed in B2B Commerce and pushed to Billing.
G. Pricing and Product data should be pushed from ERP to both CPQ and B2B Commerce, keeping single source of trut
H. Promotions should be handled in B2B Commerc
I. Invoice and Billing should be maintained in Billing and pushed to B2B Commerce.
J. Pricing and Product data should be pushed from ERP to CPQ and from there to B2B Commerce via the CPQ B2B Commerce Connecto
K. Promotions should be handled in B2B Commerc
L. Invoice and Billing should be maintained in Billing and presented on B2B Commerce via a Lightning component.

Answer: A

NEW QUESTION 22
Universal Containers (UC) has a global support model and would like to open up a text message channel to support maintenance supervisors in countries around
the world. UC also wants to leverage messaging to market to its business partners, and be able to track open and click-through rates just like it does with email
campaigns.
What should a Solution Architect recommend to UC?

A. Utilize Service Cloud and LiveMessage.
B. Utilize Service Cloud Email to Text Message.
C. Embed third-party messenger tools.
D. Utilize Marketing Cloud and MobileConnect.

Answer: D

NEW QUESTION 24
A corporate bank has decided to use a multi-cloud solution to reduce time to market, showcase a 360-degree view of the bank’s business customers, and improve
CSAT rating by increasing channels for customer service. The CIO has asked to run a discovery workshop with one goal: understanding existing technical
dependencies within the organisation.
What should a Solution Architect recommend as the top priority to start this journey?

A. Plot the map or the future system landscape by making assumptions about the changes needed to improve customer satisfaction.
B. Plot the map of the current system landscape and identify key areas where the 626 multi-cloud solution will fit in.
C. Plot the process map using Universal Process Notation (UPN) through workshops involving a diverse set of stakeholders.
D. Plot what the customer is thinking, doing, and feeling at the varying stages of their experience, and connect them to interactions with the bank.

Answer: C

NEW QUESTION 26
Different teams at Universal Containers (UC) are experiencing challenges using their existing tools. The Sales team can only access their application from the
office, the Marketing team has to manually import leads coming from the website into their campaign tool, and the Support team lacks a communication history
repository between email, social networks, and calls. The website was developed by the IT team, and the Legal team is responsible for the Consent Management
Platform used to meet GDPR requirements.
UC wants to improve its relationship with customers, so a digital redesign program is starting with the goal of moving to Salesforce solutions.
Which three steps are necessary to set up a program roadmap? Choose 3 answers

A. Identify the high-level workload capacity and planning of the IT and Legal teams.
B. Prioritize the transformation of activities involving the least development.
C. Create project plans for each of the projects that will be on the roadmap.
D. Prioritize the transformation of activities related to customers' interactions.
E. Explain how the program contributes to the business's goals.
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Answer: ACE

NEW QUESTION 29
Recently. Universal Containers (UC) successfully launched a multi-cloud 62B implementation with Sales Cloud, Service Cloud, Experience Cloud, and B2B
Commerce. As the Sales and Service Cloud development was performed by separate teams, UC created Process Builder automation for the Account object m
separate Process Builder processes. As customers 90 through the sales process within Sales Cloud, the data on their customer account record is updated. As
those same customers make purchases within B2B Commerce, the data on their customer account record is updated as well.
What are two reasons why a Solution Architect should recommend uniting these into a single Process Builder process?
Choose 2 answers

A. Moving them into a single Process Builder process helps to reduce the number of queries and avoid hitting limits on the Account object.
B. Moving them into a single Process Builder process provides control over the order of the updates and actions triggered on the Account object.
C. Moving them into a single Process Builder is the only way to ensure a naming convention is followed on the Account object.
D. Moving one of the Process Builders into a flow will remove all automation conflicts on the Account object.

Answer: AB

NEW QUESTION 33
Universal Containers (UC) has implemented a new ecommerce site for its resellers. UC is leveraging a multi-cloud architecture, B2B Commerce, for building the
storefront and Service Cloud Web2Case for
offering case management functionality to its resellers. UC notices that the case volume is extremely high and a number of resellers are raising cases for trivial
issues on the B2B Commerce site.
Which two recommendations should a Solution Architect make to help resellers use the site more efficiently and lower the case volume?
Choose 2 answers

A. Offload the number of cases received via Web2Case by using Email2Case.
B. Implement Case Deflection.
C. Disable anonymous users on the site.
D. Plan and conduct User Adoption Trainings for resellers on how to use the site.

Answer: AC

NEW QUESTION 34
After a Solution Architect presents the Salesforce User Attribute Chart, the project owner has some concerns and questions regarding the Role Hierarchy choices
for the executive assistant who reports to all of the VPs. There are also questions about the ideal license given to the CEO who provides executive oversight and
reviews the Executive Dashboard at the end of each accounting period. There are some restrictions on budget spend for overall licenses, and the user base is
forecasted to continue to grow.
Which two explanations should the Solution Architect use to address the concerns and gain final acceptance? Choose 2 answers

A. The CEO should have a Platform Plus license given that the role is a consumer of information and should be at the top of the Role Hierarchy.
B. The CEO should have a Sales Cloud license given that the role is a processor of information and should be at the top of the Role Hierarchy.
C. The Role Hierarchy should mirror the organization char
D. Therefore, sharing settings need to be put in place for the executive assistant given the need to have access to the data of all of the VPs being supported.
E. Given that the executive assistant will need access to the data for all of the VPs being supported, the assistant should be placed higher up in the Role Hierarchy
than the VPs.

Answer: AD

NEW QUESTION 36
GG3 has gone live with a B2B multi-cloud solution and plans to add more functionality over time. The company has a team of system administrators who each
focus on a specific cloud and area of functionality. GG3 has decided to use an Org-Based deployment approach. It wants to protect the investment made and set
the team up for success in the future.
What should a Solution Architect recommend as a best practice to put checks in place for decisions on changes moving forward?

A. Engage Salesforce services to manage all governance and represent as the Steering Committee.
B. Budget for a Governance and Monitoring structure that includes a communications plan and project methodology for the following year.
C. Set up a Governance and Monitoring structure that includes a Steering Committee, a Center of Excellence, and a Data governance council.
D. Engage a third-party company to manage all governance and represent as the Steering Committee.

Answer: C

NEW QUESTION 39
Universal Containers (UC) is undergoing a full digital transformation and has chosen Salesforce as one of the main components. UC will use Sales Cloud for
online activities, CPQ for quote generation and renewals. B2B Commerce for online orders through its partnerships and vendors, an external ERP for fulfillment
and invoicing, and Marketing Cloud for customer outreach. UC wants to create fluidity between the entire application landscape, and an integration between
systems is required.
The application is expected to be able to generate an order based on any of the channels outlined above, and be utilized in UC's outreach to its customers.
Where should a Solution Architect recommend the system of record (SOR) be for all orders going forward?

A. In the ERP Order Object
B. Salesforce Custom Object
C. Salesforce Order Object
D. B2B Commerce Order Object

Answer: C

NEW QUESTION 43
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The business model of Universal Containers (UC) puts a strong emphasis on indirect sales and service processes. UC's customers are primarily distributors,
resellers, and service providers who either sell or service products independently, or collaborate with UC on joint opportunities and cases. In the past, collaboration
was primarily driven through email but UC wants to bring both service and sales collaboration onto one consolidated platform.
Which solution should a Solution Architect recommend to create better collaboration and visibility for UC employees, resellers, and service partners?

A. Grant access to resellers and partners by providing Sales Cloud licenses and Service Cloud licenses.
B. Grant access to resellers and partners by providing Partner Community licenses.
C. Grant access to resellers and partners by providing Customer Community licenses.
D. Grant access to resellers and partners by providing Customer Community Plus licenses.

Answer: B

NEW QUESTION 47
Universal Containers (UC) is about to complete an initial planning of a complex solution involving multiple customer personas. UC wants to ensure it has a
comprehensive understanding of what kinds of business outcomes the customers want to achieve before presenting them a solution.
Which method of discovery should a Solution Architect suggest to UC?

A. Third-party research from well-known organizations
B. Jobs To Be Done Framework
C. Comprehensive Surveys to End Customers
D. User Stories Creation with End Customers

Answer: C

NEW QUESTION 51
Universal Export has implemented multiple Salesforce products and has made it clear that it wants to maximize its investment and avoid buying any new products.
For the company's next release, its business requirements seem to be a close fit for a product that Salesforce has. out it wants to develop a custom extension that
replicates the functionality of that Salesforce module.
Which two actions should a Solution Architect take? Choose 2 answers

A. Begin requirements gathering for integrations and data migration
B. Advise the customer to use the out-of-the-box approach to avoid unnecessary technical debt.
C. Consult with the IT department to review the extension requirements.
D. Evaluate the business benefit of the requested functionality to see if it justifies investment in the Salesforce product.

Answer: BD

NEW QUESTION 53
Universal Containers (UC) is looking to implement a CPQ + 626 Commerce multi-cloud solution and use the CPQ 626 Commerce Connector to keep the two in
sync. As part of this implementation, UC is looking to be able to have a streamlined product and pricing experience. As UC would like to sell product kits with tiered
pricing through the self-service storefront, it would like to ensure this model can be supported effectively.
Which two considerations should a Solution Architect keep in mind for the implementation? Choose 2 answers

A. for supporting kits in the B2B Commerce Storefront, they need to create equivalent bundle products on the CPQ side.
B. For the described multi-cloud solution, it is a best practice to set the CPQ precision to two decimal points.
C. On the CPQ 826 Commerce Connector, the default mapping of tiered pricing in 826 Commerce is to Discount Schedules in CPQ.
D. It is important to ensure the Price Rules run for Quotes initiated via 628 Commerce Storefront to maintain consistency in business rules being applied.

Answer: AC

NEW QUESTION 58
UC Foods, a manufacturing company, has multiple sales channels including a front-line Sales team and channel partners who are currently enabled on Sales
Cloud as well as a Partner Community. The company wants to establish a new B2B Commerce portal to lower the cost of sales by enabling self-service
capabilities to automate sales wherever possible. The executive sponsor is concerned that sales representatives might see the B2B channel as a threat to their
ability to sell and, therefore, earn higher commissions.
Which two use cases should the Solution Architect highlight to help the executive sponsor better understand the appropriate role for B2B Commerce as it relates to
existing sales channels?
Choose 2 answers

A. Highlight that the B2B portal is meant to tackle more routine, low-complexity sales, allowing the Sales team to focus on the more complex sales and priority
accounts.
B. Highlight that the B2B portal will be a useful tool to help improve customer communications and enhance customer engagement by providing faster updates on
their orders as they are fulfilled.
C. Highlight that the B2B portal is meant to handle high-complexity sales that are ideal for automation, leaving the Sales team to handle less complex, higher-
margin sales.
D. Highlight that the B2B portal will help the company grow and expand into new geographies where the company does not currently have a sales footprint,
resulting in more rewards for everyone.

Answer: BD

NEW QUESTION 59
Universal Containers (UC) is using Service Cloud and B2B Commerce to allow resellers the ability to purchase and support farming equipment UC maintains. UC
has invested in smart devices which allows that equipment to inform UC when a part becomes faulty. The data from these devices goes to a public cloud solution
where every row of sensor data is received every second from every device. There are 100,000 devices on various farms being actively used. The CIO would like
this data to be connected to Salesforce in some manner.
What kind of integration method should a Solution Architect suggest to accommodate this need?

A. Embed the devices' sensor data in a view on the Asset record.
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B. Load the public cloud solution directly to Salesforce using MuleSoft.
C. Utilize Platform Events based on the devices' state change.
D. Utilize Apex Callouts based on the devices' state change.

Answer: A

NEW QUESTION 64
Universal Containers (UC) has its product and primary pricing in an ERP. For data consumption to other systems, the ERP is integrated to a separate third-party
data warehouse. The cart-to-quote process is supported by Salesforce's multi-cloud solution spanning Sales Cloud, CPQ, and B2B Commerce.
The sales process is structured so that the customers add products to the cart through the Storefront and request a quote from UC's sales representatives. The
representatives can work on the quote in CPQ and push back the updated pricing to the Storefront. The overall pipeline is tied back to opportunities and
opportunity products for forecasting.
Where does UC house the system of record for its sales process?

A. Salesforce B2B Commerce
B. Salesforce CPQ
C. Salesforce Sales Cloud
D. Third-party data warehouse

Answer: C

NEW QUESTION 65
Northern Trail Outfitters (WO) is transforming its service experience. NTO has created a RACI matrix to understand the key stakeholders' responsibilities for
activities and decisions during a Salesforce Field Service discovery workshop.
Which three NTO stakeholders should a Solution Architect recommend be defined as Consulted during the discovery workshop?
Choose 3 answers

A. Field Service Manager
B. NTO employee representing a typical customer
C. Business Analyst
D. Field Service Agent
E. Project Manager

Answer: ABE

NEW QUESTION 70
......
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